
   
s[lif tyf jg lj1fg ljZjljBfno 

  ;]jf cfof]usf] sfof{no      

lrtjg, g]kfn  

k/LIff 

!= k|Zg ;+Vof / k"0ff{Í ljefhg 

k/LIffdf Ps?ktf / ;xhtf sfod ug{sf] lgldQ ;a} k|sf/sf kbx?sf] lnlvt k/LIff tf]lsPsf] 

kf7\oqmd leq /xL b]xfo cg';f/ ;+rfng ul/g] 5 . 

qm=;+= k|Zgsf] lsl;d k|Zg ;+Vof k"0ff{Í 

s= ljifo ;DalGw 1fg   

!= j:t'ut k|Zg ;+Vof %) %) 

@= nfdf k|Zg ;+Vof @ @) 

#= 5f]6f k|Zg ;+Vof !) @) 

v= ljZjljBfno ;DalGw 1fg @ !) 

   s'n k"0ff{Í                                               !)) 

                                               

k'/f k/LIff cjlw # 306fsf] x'g]5 . h; dWo] a:t'ut k|Zgkqsf] cjlw %) ldg]6sf] dfq x'g]5 . 

@= k/LIff z'Ns ljj/0f M 

s= cfj]bg kmf/fd z"Ns jfkt 100.­ 

v= k|fWofks kbsf] k/LIff z"Ns jfkt 2,000.­ 

u= ;x k|fWofks kbsf] k/LIff z"Ns jfkt 1,750.­ 

3= pk k|fWofks kbsf] k/LIff z"Ns jfkt 1,500.­ 

ª= lzIf0f ;xfos, jl/i7 k|lzIfs, k|lzIfs, pk k|lzIfs / k|lzIfs kbsf] k/LIff z"Ns 

jfkt 

1000.­ 

r= k|zf;s jf ;f] ;/x kbsf] k/LIff z"Ns jfkt 2,000.­ 

5= ;x k|zf;s jf ;f] ;/x kbsf] k/LIff z"Ns jfkt 1,750.­ 

h= pk k|zf;s jf ;f] ;/x kbsf] k/LIff z"Ns jfkt 1,500.– 

em= ;xfos k|zf;s jf ;f] ;/x kbsf] k/LIff z"Ns jfkt 1000.– 

`= x]* cl;i^])^ jf ;f] ;/x kbsf] k/LIff z"Ns jfkt 800.– 

6= cl;i^])^ jf ;f] ;/x kbsf] k/LIff z"Ns jfkt 600.– 

7= >])fL ljlxg kbx?sf] k/LIff z"Ns jfkt 400.– 

8= k"gM k|j]z kq z"Ns jfkt 200.– 

9= z'?sf] Dofb gfl3 tf]lsPsf] yk Dofb leq cfj]bg kmf/d a'emfpbf nfUg] ljnDa z'Ns 

jfkt z'? b:t'/sf] bf]Aa/ nfUg] 

 

0f= Ps eGbf a9L ;d'xdf cfj]bg lbbf yk b:t'/ 300.– 
                           

 kmf]g g+=)%^– %@@*%) 

  

 

 

 
 

  


